Math 1210: Quiz #4 Fall 2017

Name: A#: Section:

(8] 1. Let f be a function whose graph of y = f(z) is given below.
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Fill in the following.

(a) List all z where f is not continuous:

(b) List all  where f is continuous, but not differentiable: _ \

(c) List all  where f is right-continuous, but not continuous: 4

(@) lim(fGz—1)+@z—1)2=(1+r5) = 36
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(g) If g(z) = 22f(z), then ¢'(2) = 4 + Ax (- )=~ Q) = 2 For) + 2 T )

() If h(z) = f(2z), then f(1) = 2 X(C2) =~ 6 hWoo =2 F ()




(4] 2. Find the equation of the tangent line to y = 22 — 2z + 3 at z = 1.
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(8] 3. Compute the derivative. Do not simplify your answer.

(a) d% (cos(:v) + % + et 4 Sin(S))
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